2 % AABC = ADEF 2t & & gl 28 1277

@O AB=DE, BC=EF, CA=FD
® BC=EF, /B=/(E, /C=/F

® AB=DE,BC=EF, /B=/E
@ﬁ:ﬁ,ﬁzﬁ,zA:zD

® AB=DE, /A=/D,/B=/E

B
@ SSS 5
@ ASA &5
® SAS &%
@ (A = /D 7} ot} /B = /E ©]°o|oF SAS §-5°] Hrt
® ASA &%




g 2N x +y 2] S Fafolat,

> ®eh: 125 °

whEbA x +y = 90° + 35° = 125° o]t}




3.

Che 2olA 2x o] g127

6x+13°

S 11 10z+10

® 10° @ 11° @12° @ 13°

® 14°

6x + 13° = 2x + 11° + 180° — (10x + 10°)
= 181° - 8x
Solx =12°




[e] [e]
22 A=

Wzke] 2]} g 9)7ke] 277 M=

5

the B7] Foll A
|

4.

12

180°

x180° = 60°, £]Z}2] 327]

2
3

3 -

o Ui 271=

120°

=
—

x180 = 90°, &|Z+e] A7)+

=2
4

<t

PEERE

Barzkg el @

72°
60 °
45°

=
—

=

=

=

=

37]
37
37]

90°




Sy yo BE QEEOR v YL EUL

WIS g (YY) BYES A
C}-S 727} Zro] gk Wol Zlol} 10
-2 197] Slste] o ool oW -2 Qeislof
s} Fsfeler.

BHE6 {742h0 1 B4 o)

o

vV V¥
0
i

60




6.

AABC of thete] ohg o] 5 A 1S sl =g v, Hef Yol
A A9

2cm 3cm 5¢cm 6cm 7cm 8&m  1lcm

@ 2cm, 6cm, Tem @ 5cm, 6cm, Scm
® 3cm, 6cm, 7cm @ 2cm, 8cm, 1lcm
(@)Gcm, 8cm, 1llcm

_ - 1
SABC 9] Yol A2 i, Ao} FER S x§x11 =

44(cm?) o|t}.

@ 2c¢m + 8cm < 11lem O] B2 AFZHg o] o] g 2| 7] &Fi=t}




7.

Al ¥9] ZAol7F 4em, 5em, acm @l A2 S Aol a1 gt o]uff,

A4 a9 Ftol E 5 e o 5 2 QA Hoteiet.
> £ 7H

> ®E: A

(i)d44+a>5,a>1
(ii)44+5>a, a<9
Ot 1<a <9 B ave 2, 3, 4, -+, 88 770tk




n 219 2] el g n 7f oz
5 t2hg o] Wo] A48 247} x, y ot

y(y-3)
5t 3

=41

Lx=T7,y=9
whebd y—x =97 =2 otk




Y
M
>
us)
Ir
—_
g
B
o,
k=l
2ol
HT
us]
(@)
rir
£
B

A D
E
B C
» E: cm?
> de % cm?

AAED ¢} ABCE 9f|A]

/AED + /BEC = 90°

AAED ©| A ZAED + /ADE = 90°

.. /BEC = /ADE

= /AED = /BCE, /ADE = /BEC,DE = EC
. AAED = ABCE (ASA %)

AD =EB = 15-9 = 6(cm)

utabA] AFzZEE ABCD 9] Hol= (6+9)x15+2= %(cmg)




10. o 2914 0ABCD & AAH}E0l1l aAEBC
x+y o #= Fstefet,

A 7 y D

\VARR 4
0x
i

165

~&B

ABEA ¢} ACED ©f| A
BA =CD
BE = CE
/ABE = /DCE = 30°(= 90° - 60°)
- AABE = ADCE (SAS &%)
1
/BEA = /CED = - x (180° - 30°) = 75°
S y° = 360° — (75° + 60° + 75°) = 150°
1
n %7 = o x (180° - 150°) = 15°
L x+y=154150 = 165




